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Really, two is exempt and 7>°7 is liable

OVERVIEW

The x7m3 concluded that we can maintain that generally 7%°7 is 21 a 712w
and 2°n¥ (in the Xn»™12) is nevertheless MYD from a 72w either because
MO W or MYPIR 7AW N3 Y Pyawi Pr. Our Moon explains the view
of X"2w" that even though o°nw is My, nevertheless Wow is 2°°17 a 12w,

nooIN asks:
— 951 9919 1N DNV 213 9N 23 arn ‘[5’11‘1 1972 99NN ON)

And if you will say; since 797 is 217 a m12w, then even if he claims 2'nw,

he is not a 2''1713, but rather a n"21, so therefore -
— Z0ymw AN SPA INT 1110 PN NS YHY N 39

When he admits to w52 he should be believed with a 1% that he could

have claimed 2°nw -
— TYHN 12 PYNAY 2297 RIYV SN

So what is the reason of X''229 who maintains that he is required to swear?!

Mo0IN answers:
— 11892 IV 1N IWIDN TVYNY NNT ND NXIADT 1Y U

And one can say; that X"2¥7 maintains that he will not claim willingly

that which the avw supports him (i.e. onw) -
%991 9919 757 VYN NP0 NY DN >ATIN TOYN NNNNY ANV 29Y

For it appears (if he claims o°nw) that he is admitting to 2°nw only
because the "vw does not allow otherwise, and if there would be no vw

"If we assume 7971 is 27 then the entire claim (including the admission of 77°77 and the denial of the rest)
is considered as one claim, where he is a n"21. See n"w1 7"7 X,7 MBI (footnote # 4).

> When he claims 2°nw he is still considered a »"am. There is no 71977 to be a »"2m only to be a 2"7.
Therefore since he could have claimed 2°nw and would have been ny12awn MWD (because 1W*>0n W), he
should now also be fiy12wn 75 on account of the n.

> A n"am shows that he is willing to pay (and the rest is *vnwX), however a 3"m32 shows his defiance in
refusing to pay at all. The mwv of o°nw indicates that he is admitting only what he is forced into admitting,
but otherwise he is not yielding.

* His admittance of o°nw (should he have chosen to have claimed so) is not a real admittance that he should
be considered a »n"21m. Rather it is evident that he is essentially a 3"m2; however in this circumstance he
cannot be a 2"mM>, so he admits whatever the 70w requires him to admit, but not more than that. A person
who is a n"2m (as he is since he claimed w5w), does not have a w» of having the n1wi of being (the
equivalent of) a 5"m> (which he would be considered as such had he claimed he owes only o°nw).
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he would be 2'':712. It is not a claim which he would make willingly, therefore there is
no 1°n.

SUMMARY

The w»on 7w (according to X"2w7) makes the admission of 2°nw to (still) be
considered a 17vi7 as a 2"m2 is, and therefore there is no Wn by wHw that he
could have claimed o°nw.

THINKING IT OVER
Is the ¥720 of W on W a cause to exempt him from a 7¥2W or to be 2nn
him a ny2w?
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